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FINANCIAL MANAGEMENT
Paper: 5.3
Full Marks — 80
Time — Three hours

The figures in the margin indicate full marks
for the questions.

Answer either in English or in Assamese.
T {E WA SRS FR_At |

Answer all questions.
7 oMk Be’ famm

Answer the following as directed: 1x10=10
o o Bew s

(a) In respect of raising finance from new issue
market, companies are prohibited from
issuing shares at a discqunt except in the case
of issue of sweat equity shares.

(State true or false)
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R g TR #R T R W s (¢) Use of debt capital to gain is known as:

@R 2R i B IIS [ :
e ey st il R ; R T 3R " T z:m ; =
S g Sutubgpas o PCIe GHFUD! S Wl i ¢

(Sfetht v @ wioT BEd F)

(i) Financial leverage

e feEs
(b) Key financial functions of a firm mclude the
following except : (ii) Operating leverage
TR e

m @Eig s I s (iii) Financial operating leverage

R TR s
(iv) Position and operating ratio
Sfo*d ST AR Segoire

(b)- Make or buy decision ) When fluctuations in sales are accompanied
o R AR | by disproportionate fluctuations in operating
e profit, it results in: '

(a) Investment decision

- Rcns s

(c) Dividend decision | : Aot SoNEfR W St sirewe
et Rred B oe Rt oRew TR e W aR
RTHlE IOl T o T 8
(d) Financing decision o s
, (i) Operating leverage
R Prare | | . SRR e
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(ii) Financial operating leverage
8wt Freiws

(iii) Fixed capital turnover
FR FIWE turnover

(iv) Capital operaling turnover
EE SAIEIR turnover

In a capital budgeting decision, where a

number of alternatives are competing for
selection in terms. of profitability, opportunity
to accept and whether it is more desirable
than an alternative opportunity, it is necessary :

Capital budgetingd Fraw Fwss IO
profitability sz <ivRS, SFCITOR
A S i ({737 AR TS bt AFRA
TSR AR afSraiaet @, o TS
e @Rt ameT s

(i) to make decision whether to accept or
reject a given investment proposal

51 RN s g 1 A AT
799 e

4 (Sem 5) FNMM/G (4)

®

4 (Sem 5) FNMM/G (5)

(ii) to rank them in order of profitability
Profitabilityd 4R «2REa @<

(iii) to rank them in order of sensitive index

Sensitive 76 PR WBReARTT @RI
(iv) both (i) and (iii)

(i) o= (iii) TR
Which is the correct description of the

situation of a firm after conversion of
debentures into equity ?

QoiaS equity 051 ol IS FPies, AfSHmTBIR
A P! IfA I =W 2

(i) Increase in debt equity ratio and increase
in the risk factor

Debt equity SA® 3@ WE Rem
RSl 3@

(ii) Increase in debt equity ratio and decrease
in the risk factor

Debt equity Sae I"m wE Rem
AR QA
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(iii) Decrease in debt equity ratio and
increase in the risk factor

Debt equity SRS Q?lr i [em
FEenEel I

(iv) Decrease in debt equity ratio and
decrease in the risk factor

Debt equity SHAS FF W Rem
ARG FF

(g) The capital employed as working capital
constantly, changes its form to drive the
‘business wheel’, it is known as the:

an«fismﬁﬁﬁwﬁmﬁﬁmﬁw
[, WF GF@ PR 5 [@E, (W TP
Qe =® '

(i) gross working capital
TP IS
(ii) circulating capital
9fawR A |
(iii) operating working capital
SAICEBR FIFFI T
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(iv) fluctuating working -capital

ARG IRE] LA

(h) Current assets are twice the current liabilities.
If the workin_g capital is Rs. 20,000, current

assets would be :

sfre FifE sfere omiT ¥R @d =W | I IR
e 20,000 5 W, (O e Al
A 298 :

@) Rs. 10,000
10,000
(ii) Rs. 40,000
40,000 B
(iii) Rs. 80,000
80,000 B
(iv) Rs. 20,000

20,000 Bt
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(i) Tandon Committee and Chore Committee

recommendations related to :

Tendon Committee Sl Chore Committee

. PO Ry w1e TS 3

(i) Bank finance for working capital
requirements

anmam@ﬁﬂwm@m
Re atim

(ii) Guidelines from ministry of corporafe
affairs on working capital finance

FEN R QAN AFITS  FEG
AP wEeiterew A ot

(iii) SEBI. guidelines for long term capital
finance

NI e @i kwws W SEBI
Fofa

(iv) RBI direction on SLR and CRR

SLR @i CRR. sitwigs famt  RBI
[Cloniscil
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(j) The Profitability Index (PI) or Benefit Cost
Ratio, is the relation between the present
value of future net cash flows and the initial
cash outlay

(State true or false)

Profitability sp< (PI) W<l =#eRte I
wsircs (Benefit Cost Ratio) = eRIce
SAEI T 4 BT T ARTS Foiw RiFeasR
i) (Bf&ht vT @ ST SEId 1)

2. Answer the following questions in about thirty

words each : 2x5=10
ReICht =g ooss e ofSth e Bew famt ¢
(a) State the meaning . of net workmg capital.

o () T FewE w9 Tad =

(b) State the sources of finance.

Rex Sormz Surd 341

.('c) -State the meaning of financial leverage.

Rely Prorwe oy Smd 4

(d) State the meaning of pay-back -lieriod.

Pay-back eS o B 3|
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(e)

State the use of credit policy in determining
working. capital level. ‘
PR TR T AERIE RIS ICEisI

Answer - the following within 150-200 words
each: ; 5x4=20

STt 150-200 W %@W Reeie 2T S ami ¢

.(a)

(b)

Define net present value. How is it computed
in a capital budgeting decision ?

A () I$AN FI @ @A) Capital

budgeting Prares e aal et FAfa w1
¢ -

- Or /=4t
Discuss the use of Internal Rate of Return
(IRR). '

Internal Rate of Return (IRR) &% JRII
iceoal I} |

Discuss the procgdure for calculation of cost

of preference sh capxtal
AEPRTE o Rster  ~=fe

A I
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©

Or / |dl

Examine the difference between financial

leverage and operating leverage.
Financial leverage ii% (_‘)befetihg' leverage-o9

Aere AT AL ciTEcal FA|

State the use of EBIT-EPS analysis in
financing decisions.

Financing fF@iws sw$s EBIT-EPS ReseR
SEd WI
- Or/ 99

What is wealth or value maximisation
objective or goal of an entity ?

| W.W'WWWWWNW

(d)
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3t Sop ¢

What is cost of capital? How is it

ascertained ?-

e I T 2 a@ @ {w I A e
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‘(¢) State the use of credit policy in determining
working- capital level.

PEFT T T RERN ovae YT

“ffor TIRee Tad =1
3. Answer -the following within 150-200 words
each: L 5x4=20
~2IfSEBt 150-200 s fows Frsie e Bes i ¢

.(a) Define net present value. How is it computed
in a capital budgeting decision ? '

M (P) ¥ EI A WA Capital

budgeting Frarss TS @l (T Wefm =1

' e
" Or/ St
Discuss the use of Internal Rate of Return

Internal Rate of Return (IRR) =¥ I3
TADBA 1A |

Discuss the procgdure for calculation of cost
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(©)

Or /9Ll

, Examine the difference between financial

leverage and operating leverage.
Financial leverage <% operating leverage-Si

TS <4 ALy cfiEeal 10|

State the use of EBIT-EPS analysis in
financing decisions. - '

Financing Braies 5wes EBIT-EPS RasweR
B
- Or/ 94t

What is wealth or value maximisation
objective or goal of an entity ?

u@naﬁa'w HeR EV AEHIINT T

(d)

at Sy B2

What is cost of capital? How is it
ascertained ?

e JF 2 9T T R R = e
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4. Answer the following questions in about 600
words each: , 10x4=40

STl 600 ¥R ToT® RNE oy T fimnt 8

(@

®)

Elaborate the determinants of capital structure

of a corporate entity and the beneﬁts of a -

balanced capital structure.

TN 2O B TR MR FeiRerrdt
R 3=k il oI SIviiye  eisw
st Borifer Frat

Or / |l

What is over-capitalisation ? Discuss the
consequences of over-capitalisation.

Over-capitalisation & 2 Over-capitalisation-
o] AR SEeal ¥

Explain the residual theory of dividend.
SIS residual TR I Ty
Or / |31

Explain the measurement and interpretation
of operating leverage with examples.

BuIzII¥ S operating leverage-s W

FeiRe =i g RoseR RIw m st
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(c) From the following details, estimate the

working capital requirement of Sarbogh
Manufacturing Company which is workmg at
60% capacity : 10

ARe oYY 2R STl TRTIBIRNR
@=iiRt R 60% @bl T IR,
2R I R SRl {1

Production at 100%'cap'acify : 24,000 unit p.a

100% =15 Besivm Coilb ¢ T-R 24,000 caIit

Selling price Rs.100 per unit.

Rl U coiie - &fS 100 Bt
Raw material Rs.30 per unit
&5t WA colf5 =fs 30 Bt
Labour :  Rs.20 per unit
L i &fS 20 Bt

Overheads (37217 I9) Rs. 14,000 per month

~ including Rs. 2,000 as depreciation per month.

2fS Wz 14,000 531 ; 3R 3w 4% e
2,000 5 ST I JA. AN R =R

Processing time one month
ABOL T G AT
Inventory holding

TGSy YR
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Raw material one month

cFol W T AT

Finished goods two months

Besfifts A w2 WX

Credit period (¥a1)

- Customers : three months

et o =iz

Suppliers two months

@i frewl 58 MR

Wages : Y2 month

LRl Y W

Overheads one month

Contingency cash : = 5% of total working

Rl TeRAT F9w capital

i ) P TN T 5%
Or / )t

- Define working capital. What are the factors
‘that should be considered in determining the
working capital requirements of a textile
company ? 10
N TR AR ) GHoRE R
GO ILFRN FER AR PR F@Eee B
& Tz Rezoat 1t 8Fs ¢
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(d) The total available fund for capital expenditure

in a year in Guwahati Diary is estimated at
Rs. 2,00,000. The mutually exclusive
investment proposals along with the
Profitability Index (PI) are given as follows :

- 10

Guwahati Diarys i1 J99 AR GOl IS
2lisf EER SR 2,00,000 SIS S I
TR Mutually exclusive BTl e¥RWIR
TATS ‘Profitability sps were WAl == 8

Project

B| c| D E | F G

Initial

outlay

in Rs.
oS
g

35,000 25,000 | 80,000 | 20,000} 40,000 | 20,000

index

Hd

Profitability

Profitability

116 | 114 | 125 | 105 | 109 | 119
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Identify the projects in order of the rank of
relative profitability under the PI method.
Which of the above projects should be .
accepted to maximise benefits ? Show reasons.

Pl ~&f$3 SIflwe «s>{"¥< profitability ranks
TS AEPTR BFe F9I | SRS @5
IR AR (PIFGT AT S T g 2 IE
et

Or / =11t
‘Discuss the traditional methods of capital
budgeting with examples. 10

Tnizsed Cte - AIIgI{$ capital budgeting-3
AGSHIR SC=Ao 5 |
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